LEHnER Simple interest

Name - Starttime- _ . End time-_

Solve the following.

1. How much will Rs. 25,000 amount to in 2 years at C 1., if the rates
for the successive years are 4% and 5% p.a. respectively?

A Rs. 27300

B. Rs. 27,000

C. Rs. 28.000

D. Rs. 28.300

2. How much will Rs. 25,000 amount to in 2 vears at C_I._ if the rates
for the successive years are 4% and 5% p.a. respectively?

A Rs. 27300

B. Rs. 27,000

C. Rs. 28,000

D. Rs. 28,300

3. How much will Rs. 25,000 amount to in 2 vears at C.1., if the rates
for the successive years are 4% and 5% p.a. respectively?

A Rs 27300

B. Rs 27,000

C. Rs. 28,000

D. Rs. 28,300

4. How much will Rs. 25,000 amount to 1n 2 years at C 1, if the rates
for the successive years are 4% and 5% p.a. respectively?

A. Rs. 27300

. 27,000

. 28.000

. 28300

Goe

B.

C.

D.

5. Amit borrowed Rs. 2.500 from Binay at 12% p.a. compound interest.
After 2 years he gave Rs. 2,736 and a camera to Binay to clear the
debt. Find the cost of the camera.

A Rs 2736

B. Rs. 400
C. Rs. 336
D. Rs 53872

A\ 2 3 5 6 " 8 9

www.shreersctutors.com




